#31 - Florence F2 Rehab - Pine River to ATC

Motorized Recreation Grant Application

For: (choose all that apply)

Form 8700-159 (R 02/2024)

DNR Use Only

X ATV/UTV Trail Aid

Snowmobile Trail Aid

Notice: Completion of this form is required under Wisconsin Statutes 23.09(26) and 23.33. Failure to complete this form will result in denial of financial assistance. Personally identifiable information found on this form is not intended to be used for any other purpose. The Department of Natural Resources (DNR) may provide this information to requesters as required by Wisconsin's Public Records law {ss. 19.31 - 19.39, Wis. Stats.}.

Instructions: Applications may combine more than one source of funds. They may be submitted for consideration of traditional ATV, UTV, Snowmobile and Motorized Stewardship funding. Submit one copy of all forms and attachments. See Page 2 for necessary attachments. Send applications to your <u>Community Services Specialist</u> .	ategory
Operation de Annelie entre la forma etien	1

Section 1: Applicant information								
Applicant / Organization Name	Check Recipient: Individual other than authorized individual to act							
Florence County Forestry and Parks			on behalf of the applicant. Select if the same as applicant.					
Individual Authorized to Act on Behalf of	Applicant p	per Resolution	Check Recipient Name (Na	ame to Appear or	n Chec	:k)		
Mathew Gummin			Mathew Gummin					
Title			Title					
Recreation Manager			Recreation Manager					
Address			Address					
5617 Forestry Drive			5617 Forestry Drive					
City	State	ZIP Code	City	1	State	ZIP Code		
Florence	WI	54121	Florence		WI	54121		
Telephone Number	Email /	Address	•			•		
(715) 528-3207	mgum	min@florence	ecountywi gov					

mgummm(@norencecountywi.gov

Section 2: Project Information Required for all Projects									
Project Title C						Current	Funded Miles	New Miles (if applicable)	
F2 Powerline 2025						68.35			
County	Township	Range	ΘE	Section	1/4 1/4	1/4	GPS Coordinate Lat. 45.840		
Florence	39 N	18	\bigcirc W	21	NE	SW	Long88.25	3917	

Project Description Summary

Florence County would like to rehab a portion of F2 starting at Pine River Road (45.840903,-88.253917) and ending east Florence County would like to rehab a portion of F2 starting at Pine River Road (45.840903,-88.253917) and ending east of the ATC power line (45.841402,-88.234057). This primary dual use, year round trail provides access to Aurora businesses, Lake Emily ATV campground, Keyes Lake, and Florence area businesses including this areas only ATV Park. This 1.14 mile project will include resurfacing 1840' of hill along with reshaping, ditching and resetting or replacing a culvert depending on condition (45.839282,-88.246572). Spring 2023 runoff took a toll on the power line hill requiring a days worth of dozer work to restore it using the existing materials. There were numerous complaints of tire slashing due to the jagged edges from the original ore bed that was used. Our plan will require the use of 540 yards of 6" thick crushed ore to cover up the jagged edged old bed and 540 yards of 6" gravel to cover the new bed. This trail section has been hard to maintain due to the lack of material present and the large ore pieces being pulled up and leaving sizable holes and pieces behind. We are asking for 80% (\$25738.62) funding from the ATV-UTV Program and the remaining 20% (\$6434.65) from the Snowmobile Program as this does provide a benefit to this dual use trail. (\$6434.65) from the Snowmobile Program as this does provide a benefit to this dual use trail.

X I certify that all maintenance land use agreements are on file.

Estimated Cost						
Maintenance	Acquisition	Insurance	Development	Bridge Rehab.	Trail Rehab.	Total Estimated Cost
					\$32,173.27	\$32,173.27
		Lea	ave Blank – DNF	R Use Only		
Applicant Certif	ication					
Printed Name of	Authorized Official		Of	fficial's Title		
Mathew Gumm	in		Re	ecreation Manager		

As the applicant's authorized official, I certify that, to the best of my knowledge, the information in this application is true and correct.

Department of Natural Resources dnr.wi.gov

Due Date: April 15

State of Wisconsin

Page 1 of 5

Number

Florence County Forestry and Parks

Motorized Recreation Grant Application

Form 8700-159 (R 02/2024) Page 5 of 5

Appendix B –	Required for	Trail/Qu	alified	l Troι	ite Reh	nab, Re	route, o	or Development	
🗙 Trail Reh	ab 🗌 C	ualified T	oute		New Ti	rail	Tra	ail Reroute (Mandat	tory or Discretionary)
County		Township	Range	ΘE	Section	1/4 1/4	1/4	GPS Coordinates: Lat. 45.840903	
Florence		39 N	18	OW	21	NE	SW	Long88.253917	,
Funded Trail Nam F2	<u>e or Number (SN</u>	IARS if app	licable)		Has pas	-	ever rec Ye		rehabilitation funds in the 2022 \$ 11,669.00
Trail is located on:			L	.ength	of Easen	nent or La	andowne	r Use Agreement	Expiration Date
 Private pro 	operty 🔿 Publ	ic property		St	arted 20)+ years	ago. Re	news every 2 years	04/13/2025
Landowner Where	Trail is Located							Telephone Number	I
Goodman Forest	t (Huber Resou	rces Grou	p-Tony	Derle	th), Flor	rence Co	ounty	(906)	282-2819
What other recrea	tional trail uses a	ire planned	for this	trail?					
	Recreational uses				-			cost will be paid for b	by other users?
How many miles v	vould be affected	if this proje	ect is no	t funde	ed? V	Vill this re	sult in cl	osure of a trail?	O 11
	7.5							• Y	es () No
Is this a critical se	ction to the overa	all trail syste	em?	1	re a reas	onable al	ternative	?	
		● Yes () No	No					
Does any section contain a bridge?	of this trail Ves	an in	this brid the ne			ibilitation O Y	~	What is the way was not set to be a constrained with the way of the way was not set to be a constrained with the way of t	eight of your puller & drag/ ment?
									lbs.
• Yes 🔿 No	Have you conta	cted your lo	ocal <u>DN</u>	R Wate	er Manag	ement S	pecialist ((<u>WMS)</u> regarding a pe	ermit?
○ Yes ● No	Is a permit need	led? (Plea	se provi	de any	written o	orrespon	dence fro	om WMS.)	
• Yes • No	Will this project	be located	near or	cross a	any interr	nittent or	perennia	al waterway? Surface	Water Data Viewer
Yes No									
○ Yes ● No		involve lan	d disturk	oance -	- includir	ng clearin		ubbing – of 1 acre or ו <u>List</u>	more of land?

Trail Project Detailed Description

Florence County would like to rehab a portion of F2 starting at Pine River Road (45.840903,-88.253917) and ending east of the ATC power line (45.841402,-88.234057). This dual use, year round trail provides access to Aurora businesses, Lake Emily ATV campground, Keyes Lake, and Florence area businesses including this areas only ATV Park. This 1.14 mile project will include resurfacing 1840' of hill along with reshaping, ditching and resetting or replacing a culvert depending on condition (45.839282,-88.246572. Spring 2023 runoff took a toll on the power line hill requiring a days worth of dozer work to restore it using the existing materials. There were numerous complaints of tire slashing due to the jagged edges from the original ore bed that was used. Our plan will require the use of 540 yards of 6" thick crushed ore to cover up the jagged edged old bed and 540 yards of 6" gravel to cover the new bed. This trail section has been hard to maintain due to the lack of material present and the large ore pieces being pulled up and leaving sizable holes and pieces behind. We are asking for 80% (\$25738.62) funding from the ATV-UTV Program and the remaining 20% (\$6434.65) from the Snowmobile Program as this does provide a benefit to this dual use trail. This well traveled trail provides direct access to Lake Emily ATV Campground, Keyes Lake Recreation Area, Keyes Lake Park, Dining, and the Town of Florence and all of its amenities (fuel, lodging, and dining).

Form 8700-014(R 02/23)Page 1 of 2For use with Recreation Grant Application Forms

Project Name:		Prepared By:	Date
F2 Powerline 2025		Mathew Gummin	04/11/2024
County	Project Applicant:	Landowner Name	Public
Florence	Florence County Forestry and Parks	Florence County	O Private

Г	Indicate - (C) Contract , (F) Force Acct., (D) Donated				
\downarrow	DEVELOPMENT PROJECT ITEMS List by individual item or break down by Use Areas (See Item List On Back Of This Form)	Quantity	Unit of Measure	Component Costs	Estimated Total Item Cost
С	Tandem 128	99	hr	\$60.00	5,940.00
С	Tag Trailer 493	4	hr	\$26.00	104.00
С	Grader 307	3	hr	\$77.20	231.60
С	Dozer / Skidsteer 217	87	hr	\$53.00	4,611.00
С	Loader 207	27	hr	\$52.00	1,404.00
С	Tractor w/ Wobble Wheel 283+530	3	hr	\$44.38	133.14
С	Bale Mulcher 9284		hr	\$36.24	
С	AFE Forestry Head 932		hr	\$33.62	
С	Fecon Mulching Head 9408		hr	\$41.80	
С	ATV/UTV 9145		hr	\$19.00	
С	Mower 413		hr	\$16.00	
С	Harrow / Disc 919		hr	\$11.00	
С	Auger 915		hr	\$32.00	
С	Excavator 511	2	hr	\$58.94	117.88
С	Tractor 221		hr	\$39.22	
С	Truck 101		hr	\$16.00	
С	Gravel (6" compacted to 4")	1,100	yd	\$8.00	8,800.00
С	Iron Ore	480	yd	\$8.00	3,840.00
С	Riprap		yd	\$20.00	
С	Concrete		yd	\$160.00	
С	Concrete (Bags)		ea	\$6.00	
С	Erosion Control (silt fence, matting, erosion fabric)		ls	\$1,200.00	
С	Grass Seed, Wildlife Mix, Roadside Mix		ea		
С	Labor	135	hr	\$51.79	6,991.65
			I	TOTAL \$	\$32,173.27

NOTE:

• For development projects, contingency and indirect costs are <u>not</u> eligible expenses.

• For acquisition projects, complete the Acquisition Project Cost Estimate Section of this form.

















